ShaRey R

i K TI R Go LR

PRI AR RANEA, FERMER

4

mRRE R

EH#Er &

. AT wHE RE
5 | xm
oS M2 R [sl&kmmbE M2/ M4 ol (3]
BATK
Erre—— FRERLEM N it iz RREM W
_BALTK | e sk
_ SBATK | ™ SUS304 SUS304 SUS440 /
SBALTK B
T o
N 2
| |
15 %
| !
T Il
1
. \
1
s
‘ = ©
Wi E—0fA
EEE
BATK-D18
HT]
[5]2
BE N BEXTEH
— == _ T B | @ G G H L L2 t g | SESUERE EE(g)
ORS (2] tEds) (max) | (max) (min) THETE/KN | BRETRT/KN
5 s | 112 | 6 18 | M5x0.8 | 33 19 42 s 5.7 6 13
6 9 127 | 675 | 20 | M6x1.0 | 36 21 46 | 03 7.2 7.65 15
8 12 | 15.88 | 9 24 | M8x1.25 | 42 25 54 14 116 12.9 34
10 14 | 19.05 | 105 | 28 | M10x1.5 | 48 28 62 s 14.5 18 71
12 16 | 2223 | 12 32 | M12x1.75| 54 32 70 17 24 111
BATK 14 19 | 254 | 135 | 36 | M14x2.0 | 60 36 78 16 24 31 130
SBATK 16 21 | 2858 | 15 42 | M16x1.5 | 66 37 87 s 28.5 39 220
(&5 18 23 | 3175 | 165 | 44 | Mi8x15 | 72 M 90 25 475 290
BALTK 20 25 | 3493 | 18 50 | M20x1.5 | 78 45 | 108 | 06 | : 57 360
S?ELETK 22 28 | 381 | 20 54 | M22x1.5 | 84 48 111 57 68 490
(hie) 25 31 | 4286 | 22 | 60 | M24x20 | 94 | 55 | 124 s 68 85 650
28 35 | 4763 | 24 66 | M27x2.0 | 103 | 62 | 136 86 107 870
30 37 | 50.8 | 25 70 | M30x2.0 | 110 | 66 | 145 17 88 114 1100
35 43 | 571 | 28 81 | M36x2.0 | 140 | 85 | 180.5 16 1640
40 49 | 666 | 33 o1 | M42x20 | 150 | 90 | 1925 17 - - 2400
50 60 | 825 | 45 | 117 | M48x2.0 | 185 | 105 | 2435 12 4800
A\ 1kgf=9.8N
A RGBSR

ERWFEMIEA, MEFE I STHEE BRH TN
@ ( 400-6699-428 )

16|
nl.

e Q
B

[ M/

706



